SMALL FRICTION AND LARGE LOAD

JRZC -

ELBs s vt sliE AR 2 A

WAFANGDIAN JINRUI BEARING MANUFACTURING CO., LTD.

REMHL: REMRBIGIREE T HEX

Zhuhua Industrial Zone, Wafangdian, Dalian City, Liaoning

Friwik UiRsleBhRBEE L WX

INTERNATIONAL BRANCH: CHANG ZHOU NANYI BEARING CO.,LTD

® +86-635-2813786
® +86-13406360329
® +86 17849695290
® jerry@jrzc-bearing.com
® www.jrzc-bearings.com

13806122270

JRZC -

SMALL FRICTION AND LARGE LOAD

& b e

JINRUI BEARING



N| VA ®

Linear bearing

F A1 89 7= am

Our products

SW...OP

SWK

LMH

LMFP

LMKP

LMHP

502

KBA...S

KBA

KBA...L

SME..L




N| VA ®

Linear bearing

Fe A1 89 7= am

Our products

S1..T/K

HEEZRPHBTHERERT

Linear motion ball slide units series

M IO

hid

h+0.02

SA..T/K

KR MR A &

CF.. BUUSR i3 32 Blh

FRaE AR

.04 -

SBR..UU
F+Z R~ Dimensions (mm) B & E LM & slide bush
%i.ﬁ% e f, jgﬁﬁf; weigh
Designation | h E |[|W | L F | h 0 B © |8 |k T Designation |gynamic| static ( kg/m )
CN CON
SBR 10UU 15 18 |36 | 32 | 24 6 80° | 25 | 20 | M5 |10 | 7 | LM1OUU-OP 372 549 65
SBR 12UU |17.5 |205 |41 |39 (28 |75 [80°| 28 | 26 |M5 |10 | 8 | LM12UU-OP 420 610 100
SBR 13UU 17 20 |40 | 39 |276 |85 | 80°| 28 | 28 | M5 |10 | 8 | LM1BUU-OFP 510 784 100
SBR 16UU 20 | 228 |dB || 4G | &% 10 | 80° | 32 | 80 | M5 |12 | 9 | LM16UU-OP 774 1180 150
SBR 20UU 23 24 | 48 | 50 39 10 | 60° | 35 | 85 | M6 |12 | 11 | LM20UU-OP 882 1370 200
SBR 25UU 27 30 |60 |65 |47 |115| 50° | 40 | 40 | M6 | 12 | 14 | LM25UU-OP 980 1570 450
SBR 30UU 33 3 |70 | 70 | 56 14 | 50° | 50 | 50 | M8 | 18 | 15 | LM30UU-OF 1570 2740 630
SBR 35UU 37 40 |80 | 80 | 63 16 | 50° | 55 | 55 | M8 | 18 | 18 | LM35UU-CP 1670 3140 925
SBR 40UU 42 45 |90 | 90 72 19 50° | 65 €5 |[M10 | 20 | 20 | LM40UU-OF 2160 4020 1330
SBR 50UU 53 60 |120 (110 | 92 23 [ 50° | 94 | 80 |M10 |20 | 25 | LM50UU-OP | 3820 7940 3000
SBR 16LUU | 20 (225 |45 | 85 | 33 10 | 80°| 32 | 60 | M5 |12 | 9 |LM16LUU-OP | 1548 2360 300
SBR 20LUU | 23 24 |48 | 96 | 39 10 | 60° | 385 | 70 | M6 | 12 | 11 | LM20LUU-OP | 1764 2740 400
SBR 25LUU | 27 30 |60 (130 | 47 |(115| 50° | 40 [ 100 | M6 | 12 | 14 |LM25LUU-OP | 1960 3140 900
SBR 30LUU | 33 35 |70 | 140 | 56 14 | 50° | 50 | 110 | M8 | 18 | 15 | LM3OLUU-OP | 3140 5480 1260
SBR 40LUU | 42 451 | 190k | 758 {72 19 | 50° | 65 | 140 |M10 | 20 | 20 | LM40OLUU-OP | 4320 8040 2660
SBR 50LUU | 53 60 |120 (215 | 92 23 | 50° | 94 (160 [M10 | 20 | 20 | LM50LUU-OP | 7640 15880 | 6000

-05 -



BE&ANBETERRT

B&BEhEaTERES Linear motion ball slide units series
Linear motion ball slide units series -

= % M

i

_F—E*F

|

|

et

g
\1\

<

< TBR..UU
i :5;'02 4-5
y K ' 5
& i | éi‘kﬁﬁﬁ R =< Dimensions(mm}) B & B £ B 7 Slide bush
p » & Hll } Ip-!? - — SRR Basic load rating :
i 7 ) ) - B
r | ! : BAmEE
' o '% J_I_ 77N _ﬂlr i SHRRO Ehait &h ] : w2 Basic Ioad rating
- B . . - . 5
gl | Designation | Dimensions |dynamic| static | W | G | A [ M [ S | J K £ h Destration | o T W |
i &J Ll: CN CON dynamic | static
: : CN CON
! N\ =5, TBR 16UU $16 392 | 490 |62 |26| 8 | 42 |M5|50| 30 | 31 | 18 | LMI6UU-OP | 392 490
scs.uu TBR 20UU $20 784 1176 | 68 | 31 | 10 [ 51 [ MB | 54 | 37 | 34 | 21 | LM20UU-OP 784 1176
— .
SR Th R
. , , EES'E' d%ﬁlimh?’ TBR 25UU $25 1568 | 2352 |82 (41|12 | 65 |M8| 65| 50 | 41 | 28 | LM25UU-OP | 1568 | 2352
ERES FZER~F Dimensions (mm) -

Ukiit o K ARE Basic | 22 TBA 30UU $30 1764 | 2940 | 91 |48 |12 | 76 (M8 | 75 | 60 |45.5(33.5| LM30UU-OP | 1764 2940
Bt BE load rating Weight , .
esignation Restanate = w | KoM TER 16LUU $16 780 | 980 |[e62|26| 8 |8 |Ms5|50| 60 | 31 | 18 |LmieLuuOP| 392” | 490

T h E W L F G B C K =hl | s | L dynamic | static
CN | CON TBR 20LUU $20 1568 | 2352 |68 |31 |10 | 96 M6 |54 | 70 | 34 | 21 |LM20LUU-OP | 784 1176
SBEERl. | 6| & [ e S0 (= () e ] 2B L We | & | s s | 8l Bt | Ees | Bas ) SR TBR25LUU | 425 3136 | 4704 |82 |41 |12 | 130 | M8 | 65 | 100 | 41 | 28 |LM25LUU-OP| 1568 | 2352
SCsSsUU | 6 |11 |17 |34 [ 30 |22 | 18| 24 | 18 | 5 | M4 | 34| 8 | LM8UU 274 | 392 52
TBR 30LUU 430 3528 | 5880 |91 |48 | 12 | 140 | My | 75 | 110 [45.5|33.5( LM3OLUU-OP | 1764 | 2940
SCS10UU | 8 |13 | 20 | 40 | 35 | 26 | 21 | 28 | 21 | 6 |M5 | 43| 12| LM10UU | 372 | 549 92
SCS12UU | 8 |15 |21 |42 | 36 | 28 | 24 |305| 26 |575| M5 | 43 | 12| LM12UU | 510 | 784 | 102 s : : :
B&LMA RS Linear bearing series .
SCS13UU | 8 | 15 | 22 | 44 | 39 | 30 |245| 33 | 26 | 55 | M5 | 43 | 12| LM13UU | 510 | 784 | 120 B
SCS16UU | 9 | 19 | 25 | 50 | 44 (385|325 36 | 34 | 7 | M5 | 43| 12| LM16UU | 774 | 1180 | 200
SCS20UU | 11| 21 |27 |54 | 50 | 41 | 385 | 40 | 40 | 7 | M6 | 52| 12| LM20UU | 882 | 1870 | 255
SCS25UU | 12 | 26 | 38 | 76 | 67 |515| 42 | 54 | 50 | 11 | M8 | 7 | 18| LM25UU | 980 | 1570 | 600
SCS30UU | 15 | 30 | 39 | 78 | 72 |595| 49 | 58 | 58 | 10 | M8 | 7 | 18| LMB30UU | 1570 | 2740 | 735 LM..LUU
SCS35UU | 18 | 34 | 45 | 90 | 80 | 68 | 54 | 70 | 60 | 10 | M8 | 7 | 18| LM35UU | 1670 | 3140 | 1100 RE e e W
5 Y FAS
SCS40UU | 20 | 40 | 51 [102 | 90 | 78 | 62 | 80 | 60 | 11 |M10| 87 | 25 | LM40OUU | 2160 | 4020 | 1590 me (R f: '"“d’:::“;‘i“" Quter diametar Length 8 v ﬁ’l—‘m% fér"jiﬂﬁ“i Basic load raling
Number of L] Eccent 1
SCS50UU | 25 | 52 | 61 122 | 110 | 102 | 80 | 100 | 80 | 11 |M10| 87 | 25 | LM50UU | 3820 | 7940 | 3340 MOGSINO 1 bt rowe | () a | 22 p[az] | asx NE (MM} orancs oN | con
Tolarance Tolarance Talarance Tolerance
122
SCS60UU | 30 | 58 | 66 | 132 114 | 94 | 108 | 90 | 12 |M10[10.7| 25 | LMBOUU | 4700 |10000 | 4270 LB | ® 16 ] 2% | 2] o0 135 & |27 ] 2 (141118 15 18 224 | 529
SCSsLUl 6 11 17 | 34 58 22 18 | 24 42 5 M4 | 34| 8 LM8sLUU 274 392 01 LMSLUU 4 31 8 .n.?nu 15 a—gia 45 '00.3 35 -D?:i 1.1114.3 15 15 413 | 784
SCS10LUU | 8 | 13 | 20 | 40 | 68 | 26 | 21 | 28 | 45 | 6 | M5 | 43 | 12 | LM1OLUU 372 549 0.18 MIoLLU | 4 62 | 10 | o006 | 19 -a.?ns 55 | o, | 44| o5 [1.3]18 15 15 588 [ 1100
SCS12LUU | 8 |15 |21 |42 | 70 | 28 | 24 (305| 50 |575| M5 | 43 | 12 | LM12LUU| 510 | 784 | 02 IM2LU | 4 80 |18 pha 2y el Bl s s s 13l o) B 15 657 | 1200
SCS13LUU | 8 | 15 | 22 | 44 | 75 | 30 |245| 33 | 50 | 55 | M5 | 43 | 12 | LMI3LUU| 510 | 784 | 023 IMIBLU| 4 | 90 [ 13 | %0 [ 23| o6 | 81| oa | 46| o5 [1.3[22] 15 15 814 | 1570
0 1] 1] 0
SCS16LUU | 9 |19 | 25 | 50 | 85 |385|325| 36 | 60 | 7 | M5 | 43 | 12 | LMI6LUU| 774 |1180 | 200 IMIBLLU| 5 | 145 | 16 | ;010 | 28 | 501 | 70| 03 | 58| o5 [1.6/27] 15 15 1230| 2350
4] 0 [] 0
SCS20LUU | 11| 21 |27 |54 | 96 | 41 | 385 | 40 | 70 | 7 | M6 |52 | 12| LM20LUU| 882 |1370 | 255 LMOLW) 5 | 180 | 20 | o01p | 32 | 01 | 8O 23 61 0.3 1.6[30.5) 20 20 1400| 2750
] 1] :
SCS25LUU | 12 | 26 | 38 | 76 | 130 |515| 42 | 54 | 100| 11 | M8 | 7 | 18 | LM25LUU| 980 | 1570 | 600 S R 852 oL .04 ie - = = LT £ Lo B
LIMOLWY| 6 580 | 30 45 = | 123 89 1.85| 43 20 20 2490| 5490
SCS30LUU | 15 | B30 | 39 | 78 | 140 |59.5| 49 | 58 | 110 | 10 | M8 | 7 | 18 | LM30LUU | 1570 |2740 | 735 002 2 =t 2
iMstw| 6 [ 795 [ 35 | ,0n | 52 | 0% | 135 o8 [ 99| . |2.1]49| 25 25 2650| 6470
SCS35LUU | 18 | 34 | 45 | 90 | 155 | 68 | 54 | 70 | 120| 10 | M8 | 7 | 18 | LM35LUU| 1670 | 3140 | 1100 5 3 5 3
oL | 6 [ 1170 | 40 | S, | 60 | o5 | 184 & [121] &, |2.1] 57| 25 25 3430 8040
175 :
SCS40LUU | 20 | 40 | 51 | 102 78 | 62 | 80 | 140 | 11 |M10| 87 | 25 | LM4OLUU | 2160 | 4020 | 1590 Bl | 6 [ 2100 | 50 | .0, | 80 | o5 |102] 2. | 18| O, |2.6[76.5 25 % 5080 15800
SCS50LUU | 25 | 52 | 61 |122 | 215 | 102 | 80 | 100 | 160 | 11 |M10| 87 | 25 | LM5OLUU | 3820 | 7940 | 653 oL | 6 13500 | 60 %0 211 170 3 15l86.5| 25 25 7650 20000
SCS6E0LUU | 30 | 58 | 66 | 132 | 240 | 114 | 90 | 108 | 180 | 12 |M12|10.7| 25 | LMEOLUU | 4700 |10000 | 9.29
-06 -

-07 -



HE&HA RS

Linear bearing series

EZEH &R RS

Flange linear bearing series

5T

(x4)

¢
ol
.+TJZ ﬂ%
o

P 298
LM..UU
WARS R ~H#14 2 Major dimensions and tolerance ¥l E A 7 Ratings load FRBE
A NE (o NE 1 N G DI F|E| | BA% | BAK O

(mm) | Tolerance(um) [ (mm) | Tolerance( pm) | (mm) | Tolerance(um} | (mm) | {mm) |{mm]) | {mm) Dynamic CN|Statoc Co N| desingation
LM | 8 s 2| o0 |- i e oo - ] s 127 | B
weuu [0 9 s S (o2l O |tales| - |- |- | & | 2 | wssw
wew |12 % || 2 jms| 0 |tafms| 1| - |- | 28 | 265 | Lsow
wew |5 | O w20 |ns| 2 |tr|ws| ||| we | 2 | mw
wew 5| 9 Jaa| 20 lwsl O laafwal 1| - |- | 24 | s | wesw
oo | 1e | S |af o 2| S |13/s| 1 |es|s| a2 | s9 | siow
LM120U | 21 b o 2 |m| 2 |13/2|15|8 || sw0 784 | LB12UU
wew {2 | S e 20 fm| O |132|1s|o B | 50 | 784 | LB13W
e {28 | D (a7 | oo |88 2 16|27 (15| 80| 74 | 180 | iBiew
o {32 | O |ae| 2 laos| 0 |is|swos|1s|11|e0| 2 | 10 | LB20w
LM25WU | 40 _?B 59 _3%0 4 _3%0 1.85/ 38 | 2 | 12 |50"| 980 1670 LB25UU
woow |45 | % |ea| 2 laas| O |18s|43 |25/ 15 50| 60 | 2740 | LBGOWU
s |52 | % |m| o |es| 2 |21]|49|25] 17 |50 | 10 | 340 | LesL
waows {e0 | S e | 2 les| O |21|57 |3 |20 |s0| 2160 | 4020 | LBaowu
weow (80| S w0l 2 7| 2 la2s|ms| 3|25 || a0 | 7e0 | iesow
weow |so| 5 o] 2 fes| O |aslses| 3 |30|s0| 400 | 10000 | Lesoww
Mgow (120 o |wmo| o fosg 0 |ats|116| 3 |40 50| 7360 | 16000 | LBSOUU

-08-

Fixing hole(x4) yd
i
e
A=t
A I r
| N
. T 1
WEN
L
FR BEFRFFE Nylon cage ER~H4 2 (Main dimensions and tolerances} SR
WE| g |=B| pmz | =22 or D L #2 Flange s %f Fated Ioad
Nlcssrhn;?la LMF...UU Wfi;m IMK..UU | Weight{g}| mm | 282 |mm| 22 |mm hz Df | K|t |Dp| X Yz ec:i::rlr Ver;ica" Zhiafer| ghfates
diaer':ei 1oe|(eur:1r;c toel(eur;r;c tol(eur;r;ce sapen |l e e e | e[| e Dyng;?\lmic Static CoN
5 LMF5UU 18 LMKS5UU 13 5 10 15 26 | 21 5 |18 | 35 3] 3.1 167 206
3] LMFEUL 24 LMK8BUU 18 3] 12 0 ? 28 |22 5 |20 | 35 3] 3.1 208 265
8 LMF8SUU 32 LMK8SUU 24 8 15 | -1 7 +300| 32 | 25| 5 |24 | 35 3] 3.1 176 216
8 LMF8UL a7 LMKBUU 28 8 0 15 Z 32 125 (5 | 24 | 3.5 B Sl 274 392
10 | LMF1CUU 72 LMK10UU 52 10 -9 19 29 40 |30 | B |29 | 45 | 75 | 41| 12 12 372 549
12 | LMF12UU 76 LMK12UU 57 12 21 0 E 1] A2 (132 |6 (EE2 |4 5075 N Ed 510 784
13 | LMF13UU 88 LMK13UU 72 13 23 | -13 E 200 | 43 |34 | 6 |33 | 45 | 7.5 |41 510 784
16 | LMF18UU | 120 | LMK16UU 104 16 28 ? 48 (37 | B [ 38 | 45 | 7.5 (4 774 1180
20 | LMF2o0UU | 180 | LMK20UU 145 20 0 32 0 42 54 |42 | 8 | 43| 55 9 5.1 882 1370
25 | LMF25UU | 340 | LMK25UU 300 25 | -10 | 40 | -16 E 62 |50| 8 | 51 | 55 9 S 15 15 930 1570
30 | LMFSCUU | 470 | LMK30UU 375 30 45 H 74 | 58| 10 | B0 | 6.8 11 |61 1570 2740
35 | LMF35UU | 850 | LMK35UU 560 513) 52 0 70 o] 82 | B4 |10 | B7 | 6.8 11 | 6.1 1870 3140
40 | LMR4CUU | 1080 | LMK40oUU 880 40 0 60 | -19 E -300| 96 | 75|13 | 78 :3) 14 | 81| 20 20 21860 | 4020
50 | LMF50OUU | 2200 | LMKS0UU 2000 50 | -12 | 80 E 116 | 92 | 13 | 98 9 1k ] 3820 7940
60 | LMFsOUU | 3000 | LMK8BOUU 2560 60 0 90 o (110 134 [106| 18 [112| 11 17 111 4700 | 10000
80 | LMF8OUU | 5800 | LMK80OUU 5300 80 | -15 | 120 | -22 E 0] 164 | 136( 18 (142 | 11 il b = = 7350 | 16000
100 |LMF10CUU [1080C | LMK1COUU | 9900 | 100 0 150 0 [175| —-400 | 200 [170| 20 |175| 14 20 [13.1 14100 | 34800
120 |LMF120UU (17200 | LMK120UU | 18400 (120 | -20 (180 | -25 E 230 |200| 20 |205| 14 20 |13.1 % % 18400 | 40000
o . ERREA: IN~0.102kgf  SIUNIT: 1N=0.102kgf
ZEE Seal type:
LMF20 A UU AER | A No entry No seals
T uu W uu Seal on both sides
A g A Nickle plated

-09-



EE=HEHART

Flange linear bearing series

9 Lwmk.Luu

4% & & 2 Designation | miE hiE B b = R
we T e e Outer diameter Length Fiange diameter
LMK....LUd Ball cirguil e dr NE D NnE i, nE D nE
tal Tolerance Toleranca Tolerance L Tlolarance
0 0 0] G
LMKBLUU 4 26 6 0.010 12 0.013 35 0.3 28 0.2
0 0 0 6]
LMKSBLUU 4 46 8 0.010 15 0,013 45 0.3 32 0.2
0 0 0 0
LMK10LUU 4 88 10 -0.010 19 0.016 55 0.3 40 0.2
0 0 0 0
LMK12LUU 4 82 12 .0.010 21 0.016 5 0.3 42 0.2
0 0 0 0
LMK13LUU 4 108 13 G010 23 0.016 61 0.3 43 0.2
0 0 0 0
LMK16LUU 5 160 16 0.010 28 .0.016 70 0.3 48 0.2
0 0 0 0
LMK20LUU g 230 20 0.012 32 0.019 80 03 54 0.2
0 0 0 0
LMK25LUU 6 475 25 0.012 40 0.019 112 0.4 62 0.2
0 0 0 0
LMK30LUU 6 575 30 0.012 45 0.019 123 0.4 74 0.2
0 0 0 0
LMK35LUU 6 870 25 0.015 52 0.022 135 0.4 82 0.2
o 0 0 0
LMK40LUU 6 1380 40 0.015 60 0.022 154 0.4 96 0.2
0 0 0 0
LMKS0LUU 6 3300 50 0.015 80 0.022 192 04 116 0.3
0 0 0 Q
LMK60LUU 8 4060 60 0.020 90 0.005 211 0.4 134 0.3
I FEEMRAEAZ RUE ERERAZ | mxwax
Amgular Radial Eccentricity Radial i i
K H |P.C.D| Hole for attachment ' Basic. load rating
tolerance of flange {max} clearance
dixdZxh CN CoN
M um tolerance L 0
22 5 20 3.4x6.5%3,3 15 156 -5 324 529
25 B 24 3.4%6.5%3.3 15 15 -5 431 784
30 6 29 4.5x8x4.4 18 15 -5 588 1100
32 6 32 4.5%x8x4.4 i 15 -5 657 1200
37 6 38 4.5x8x%4.4 15 15 -7 1230 2350
42 8 43 5.5x9.5x5. 4 20 20 -9 1400 2750
50 8 51 Gohx Qi b d 20 20 -9 1560 3140
58 10 60 6.6%x11%x6.5 20 20 -9 2490 | 5480
64 10 67 5.6x11x6.5 25 25 -13 2650 6270
75 13 78 9% 14x8.6 25 25 -13 3430 8040
92 i3 98 9%x14x%8.6 25 i -13 €080 15900
106 18 112 11x17.5%10.8 25 25 -13 7650 20000

-10-

HEEEHLHART

Flange linear bearing series

LMF..LUU
#h & % 2 Designation lnmﬁﬂ%ﬂﬂ 9|..& KE whe Eﬁ‘:
B 5 3 B oo Outer diameter Length Flange diameter
LMF. . LUU i e Weight df NE D N L Hhe D, N
(5] Tolerance Tolerance Tolerance Tolerance
LMFELUU 4 3 g 12 - 35 -5 28 12
LMFSLUU 4 53 010 15 e 45 s 32 i
LMF10LUU 4 105 10 - 19 aibs 55 2 40 by
LMF12LUU 4 100 12 e 21 oo 57 s 42 s
LMF13LUU 4 130 13 v 23 sl 61 . os 43 2
LMF16LUU 5 187 16 i 28 i 70 i 48 L
LMF20LUU 5 260 20 W 32 . 80 . 54 EA
LMF25LUU 6 515 25 . 40 e 112 A 62 L
LMF30LUU 6 655 30 s 45 n 123 o 74 LA
LMF35LUU 6 970 35 s 52 o 135 i 82 I
LMF40LUU 6 1560 | 40 o 60 .- 154 i % o
LMFS0LUU 6 3500 | 50 o 80 - 192 o 116 s
LMFBOLUU 6 4500 60 .- 90 o 21 5 134 o
izl it e T s e [ i o
H P 22 df1° La;;a;:t;ment toleragnce of flange (max) clearance g
pm pm folerance CN CoN
5 20 3.4%B.5%3.3 15 15 -5 324 529
5 24 3.4%6,5%3.3 15 15 =5 431 784
6 29 4.5%x8x%4.4 15 15 -5 588 | 1100
6 32 4.5%x8x4.4 15 15 -5 657 | 1200
6 33 4.5x8x%4.4 15 15 ) 814 | 1570
6 38 4.5%x8%4.4 15 15 S 1230 | 2350
8 43 5.5x9,5%5,4 20 20 -9 1400 | 2750
8 51 5.5x9.5%5.4 20 20 =9 1560 | 3140
10 60 6.6x11%6.5 20 20 -5 2490 | 5490
10 67 6.6x11%6.5 25 25 = 2650 | 6270
13 78 9% 14x8.6 25 25 = 18 3430 | 8040
13 98 9% 14%8.6 25 25 e 6080 | 15900
18 12 11%17.5% 10.8 25 25 -13 7650 | 20000

11 -



EZEHE&WART

Flange linear bearing series

ZEFL2)
Fixing hole{x2)

Fi

REALx4)
xing hole{x4}

EZEH &R RS

Flange linear bearing series

RHTL(2)
Fixing hole(x2)

REFL(x4)
Fixing hole{x4)

@) '
Var e Z
el \
" 5| e el g
NCES Qo
w w El
H.
R/ NFBEF 1 3mm HE R T 3% F16mm =i L
LMH..UU LMH13 or Less LMH16 or More
R
= g [FEe=s itk (%) #R
e S PEfRAE Quter Ceving 8alls Retainer seals material
Model No. e HE | HEEHRC) | REAE | #E | @EHRC) | HE BERBET =t B
Material Hardness Surface treatment | Material Hardness Material AR Skeleton Rubber
lemperature
1=
LMHCIUU GBT/16940-2012 Gerls 60-64 Geribd 61-66 Iigizﬁn -20-80 65Mn THE:
=3
LMHOJAUU | GBT/16940-2012 Gerls 60-64 FEMRIER Ger1b 61-66 Ii}izﬁh -20-80 65Mn TR
LMHCIM GBT/16940-2012 Gerls 60-64 Gerlb 61-66 08F -20-150 65Mn
1 = e e
s =R~ ERGERE
Model No. IMain dimensions Basic load rafing
o ) B i ;
WEGSE | ARss | moly mE | P8 | Ao egengy | (Fange) (Connestion | =8| BBH| o | o
diameter) diameter) hole) ff’{ d]
. N Steel Number of | weight( nE HE nE Flange Radial
Resh mtainer | palls - dr . D s L 10|e:1nc D1 |W|H | A|F|dl|d2]| h Seere | e {kgf) | (kgf)
LMHBUU | LMHBEM 4 21 6 12 v} 19 28 (18| 6 |20 - |36| B |31 | o012 | oo12 | 21 | 27
LMHBUU | LMHBM 4 33 8 15 -0.011 | 24 32 (21| 5 |24 | - |3b5| 6 | 31| 0012 | 0D12 | 27 | 41
LMH10UU |LMH10M 4 64 10 o} 19 29 0 40 | 25| 6 | 29| - |45|75 (41| 0012 | 0012 | 38 | 56
LMH12UU [LMH12M 4 68 12 |-0009| 21 v} 30 |-020 | 42 (27| 6 | 32| - |45|75 |41 | 0012 | 0012 | 42 | 61
LMH13UU |LMH13M 4 81 13 23 -0.013 | 32 43 | 29| 6 | 33| - |45|75 (41| 0012 | 0012 | B2 | 79
LMH16UU [LMH16M L 112 16 28 37 48 | 34| 6 |31 |22 |45|75(41| 0012 | 0012 | 79 | 120
LMH20UU |LMH20M & 167 20 o} 32 42 b4 | 38| B8 |36 |24 |b5| @ |51 | 0015 | 0015 | BB | 140
LMHE5UU | LMH25M 6 325 25 |(-0.010( 40 0 59 62 (46 | B |40 |32 |55| @ |51 | 0015 | 0015 | 100 | 160
LMH30UU |LMH30M 6 368 30 45 -0.016 | 64 0 74 | 51|10 | 49|35 |66| 11 |61 | 0015 | 0015 | 160 | 280
LMH35UU | LMH35M 6 580 35 0 52 v} 70 |-030 | B2 |58 |10 |55 |38 |66 11 6.1 | 0.020 | 0020 | 170 | 320
LMH40UU | LMH40M 6 910 40 |-0012| 60 -0.019 | 80 96 |66 |13 |64 45| 9 | 14 |81 | 0.020 | 0.020 | 220 | 410
LMHS0UU | LMH50M 6 2050 | 50 80 100 116 | 86 |13 | 80 (56 | 9 | 14 |81 | 0.020 | 0020 | 382 | 794
e =

. e
J R ES:
ol -~ g}‘: ''''' T T T =
LMH..LUU 43 N F ST 13mm WEATHET 16mm *i |
LMH13 or Less LMH16 or More i
R
hE HEER F¥ren M (B ) MR
EaB=3 HEEARE Outer Gevhg 8alls Retainer seals material
Model No. Producion standards #E |fBE (HRC) FEAE i | B (HRC)| #& ERREC B B
Material Hardness Surface treatment Material Harchess Material H?;f;:y;ﬁzg Skeleton Rubber
LMHOILUY | GBT/16940-2012 | Ger1b 60-64 Gcr15 61-66 #HE Resn -20-80 65Mn THERE
LMHOLAUU | GBT/16940-2012 | Gerls 60-64 TRBER | Gorls 61-66  |#fHE Resh| -20-80 65Mn | THEER
LMHOILM GBT/16940-2012 | Gerl5 60-64 Gcr15 61-66 08F -20-150 65Mn
=) = R~ BRHMERW
Madel No. Main dimensions Basic load rating
Ll Bl i? == iﬁﬁgﬁe ﬁﬁﬁﬁﬁr uiin = {Flange] mmiﬁﬁhma ii? ﬁgm ©lee
Resin retainer | Steal retalner ﬁfbmdbﬁ;’wegm‘ dr| 42 |D| &2 | L|42 DI |WI|H|A|F|d | d2]|n ng;g'jﬁw PAd | (kg) | (ko)
LMHBLUU LMHBLM 4 28 | 6 12 0 35 28 |18 | 5 | 20 | - | 35 6 | 31| 0016 | 0.015 | 33 54
LMHBLUU LMHBLM 4 47 | 8 I -0.013 I 32 |21 | 5| 24 | - | 35 6 [ 31| 0.016 | 0.015 | 44 B0
LMH10LUU | LMH1O0LM | 4 90 (10 v} 19 55 0 40 |26 | 6 | 29 | - | 45 |75 |41 | 0.015 | 0015 | B0 | 112
LMH12LUU | LMHi2LM | 4 (102 | 12 | -0.010 ? 0 ; -030 | 42 |27 | 6 | 32 | - | 45 | 75|41 | 0015 | 0.015 | 83 | 160
LMH13LUU | LMH13LM | 4 | 123 |13 E -0.016 ? 43 |29 | 6 | 33 | - | 45 | 75|41 | 0015 | 0.015 | 83 | 160
LMH16LUU | LMH16LM | 5 | 182 | 16 ; ; 48 | 34 | 6 | 31 |22 | 45 | 75 |41 | 0015 | 0.015 | 126 | 240
LMH20LUU | LMH20LM 5 | 247 | 20 32 80 54 | 38 | 8 | 36 |24 | b5 9 | 51| 0020 | 0D.020 | 143 | 280
LMH25LUU | LMH25LM 6 | 525 |25 ’ ; ’ 112 62 | 46 | 8 | 40 | 32 | 65 9 | 51 | 0020 | 0.020 | 158 | 320
-0.012 —— -0.018 |——
LMH30LUU | LMH30LM 6 | 645 | 30 45 123 0 74 | 51 |10 | 49 | 36| 6.6 | 11 | 6.1 | 0.020 | 0.020 | 254 | 560
LMH35LUU | LMH35LM | 6 | 960 | 35 " 52 ; 135|040 | 82 | 68 |10 | 55 |38 | 66 | 11 | 61 | 0.025 | 0.025 | 270 | 640
LMH40LUU | LMH40LM 6 (1410 40 E E 96 | 66 |13 | 64 | 46| 9 14 | 8.1 | D.025 | 0.025 | 350 | 820
-0.015 || -0.022 |
LMH50LUU | LMHSO0LM | 6 |3450| 50 BO 192 116 | 86 |13 | BO |56 | 9 | 14 | B1 | 0.025 | D.025 | 6OB | 1590

e {7



HEEE%EH 7?( ;% ﬁl] Flange linear bearing series

HRE
Nominal
shaft
diameter
mm

6

8
10
12
13
16
20
25
30
35
40
50
60
80

18
18

-14-

So[EliE=
LMFP---UU

LMFP&UU

LMFP8UU

LMFP10UU
LMFP12UU
LMFP13UU
LMFP16UU
LMFP20UU
LMFP25UU
LMFP30UU

LMFP35UU
LMFP40UU
LMFP50UU
LMFP&OUU
LMFP8oUU

28
32
40
42
43
48
54
62
74
82
26
116
134
164

=
§==§

Weight
ta)

24
a7
72
76
88
120
180
340
470
650
1,060
2,200
3,000
5,800

HEFL(x4)

Fixing

LMKP---UU
s =
Lakp Gy Weidht
LMKP&UU 18
LMKPBUU 29
LMKP10UU 52
LMKP12UU 57
LMKP13UU 72
LMKP16UU 104
LMKP20UU 145
LMKP25UU 300
LMKP30UU 375
LMKP35UU 560
LMKP40UU 880
LMKP50UU 2,000
LMKP&OUU 2,560
LMKP80OUU 5,300

hole{x4}

FP---UU

mm

10
12
13
16
20
25
30
35
40
50
60
80

FTER~TFLE Major dimensions and tolerance

mm

22
25
30
32
34
37
42
50
58
64
)
a2
106
136

E=

18
18

Flange

Dp
mm

20
24
29
32
33
38
43
51
60
67
78
o8
112
142

mim

3.5
3.5
4.5
4.5
4.5
4.5
5.9
5.5
6.6
6.6

il
11

mm

7.5
7.5
7.5
7.5

11
11
14
14
17
ol 7

Df

FERTIOE Major dimensions and tolerance

dr

A==

Tolerance

pm

—-10

—-12

-15

mm

3.1
3.1
4.1
4.1
4.1
4.1
3.
5.
6.1
8.1
8.1
8.1
111
A

D
nE
mm Tolerance
pm
12
0
15
—-13
19
21
0
23
—16
28
32
0
40
—-19
45
52
0
60
—22
80
20 0
120 —-25
el FEHE
Eccentricity Squareness
pm Hm
12 12
15 al
20 20
25 25

mm

19
24
29
30
32
37
42
59
64
70
80
100
110
140

dr

L

=

Tolerance

pm

+ 300

—-200

—300

]
—-400

B BT

Basic load rating

ENOATT FRGATT

Dynamic Static

CN
2086
274
372
510
510
774
882
980

1,570
1,670
2,160
3.820
4,700
7,350

Co N
285
392
549
784
784

1,180

1,370

1,570

2,740

3,140

4,020

7.940

10,000

16,000

HEEE%EH 7?( ;% ﬁl] Flange linear bearing series

SR
Nominal
shaft
diameter
mm

6
8
10
12
13
16
20
25
30
35
40
50
60
80

18
18

ik S EEE=
LMFP---LUU

LMFP&LUU

LMFPSLUU

LMFP10LUU
LMFP12LUU
LMFP13LUU
LMFP18LUU
LMFP20LUU
LMFP25LUU
LMFP30LUU
LMFP35LUU
LMFP40LUU

LMFP50LUU
LMFP&0OLUU
LMFPS8OLUU

28
32
40
42
43
48
54
62
74
82
96
116
134
164

FER~TFIL%E Major dimensions and tolerance
h=

22
25
30
32
34
37
42
50
58
84
75
92
106
136

Fixing

B=E

Weight
(a}

31

51

98
110
130
190
260
540
880
1,020
1,570
3,600
4,500
9,090

18
18

LMKP---LUU

MK SEAFZE=
LMKP---LUU

LMKP&LUU

LMKPSLUU

LMKP10LUU
LMKP12LUU
LMKP13LUU
LMKP18LUU
LMKP20LUU
LMKP25LUU
LMKP30LUU
LMKP35LUU
LMKP40LUU
LMKP50LUU
LMKP&OLUU
LMKP80OLUU

Flange

Dp
mm

20
24
29
a2
33
38
43
51
60
67
78
98

112

142

B5E
Weight
ta}

25

43

78

a0
108
165
225
500
580
930
1,380
3,400
4,060
8,580

3.5
35
4.5
4.5
4.5
4.5
5.5
)
6.6
8.6

11
11

HETFL(xd
hole(x4}

mm

10
12
13
16
20
25
30
35
40
50
60
80

Df

FERCHEZE Major dimensions and tolerance

dr
oz
Tolerance
B m

—10

—-12

3.1
3.1
4
a1
41
4
5.1
5.1
6.1
6.1
8.1
8.1
111
111

mm

12
15
19
2
23
28
32
40
45
52
60
80
90
120

Ry
Eccentricity
pm

15

20

25

D

ox
Tolerance
pm

0
—-13

—16

—19

EHE
Squareness
pm

15

20

25

30

mm

35
45
55
57
81
70
80
112
123
135
151
192
209
265

L

ox
Tolerance
pm

=+ 300

—300

—-400

B AT

Basic load rating

AT R

Dynamic Static

1

CN CoN
323 529
431 781
588 1,100
813 1,570
813 1,570

1,230 2,350
1,400 2,740
1,560 3.140
2,490 5,480
2,650 6,270
3,430 8,040

6,080 15,900
7.550 20,000
1,500 32,000

-15-



HEEE%EH 7?( ;% ﬁl] Flange linear bearing series

REEFL(x2)
Fixing hole(x2)

F REEFL(x)
Fixing hole(x4)

CL0

Lid
LMHP---UU
iR FEEF18mm R K FET 16mm
LMHP13 or Less LMHP 18 or More
. THIAE Major dimensions and tolerance
AT TERTMAE i a
diameter EMHE =L tq) nE nE NE
o mm Tolerance mm Tolerance mm Tolerance
um um um
6 LMHP8SUU 21 6 12 0 19
8 LMHP8ULU 33 8 5 -13 24 + 300
10 LMHP10UU 64 10 (0] 19 29
12 LMHP12UU 68 12 -9 21 0 30
13 LMHP1 3UU 81 1 23 -16 32 0
16 LMHP16UU i 16 28 37 -200
20 LMHP20UU 167 20 32 42
(4] (4]
&5 LMHP25UU 325 25 40 59 0
-10 -19
30 LMHP30UU 388 30 45 64 -300
35 LMHP35UU 580 35 0 52 0 70 0
40 LMHP40UU 920 40 -12 60 =2 80 -300
FTERSTFIAZE Major dimensions and tolerance W
%2 Flange R E Basic load rating
Eccentricity Squareness =
| Df w t A F X Y F 4 um L m ﬂ]ﬁﬁ. %ﬁiﬁ
Dynamic Static
mm mm mm mm mm mm mm mm mm CN CoN
5 28 18 5 20 - B 6 3.1 206 265
B 32 21 5 24 - 35 4] a0l 274 392
§] 40 25 B 29 - 4.5 75 4.1 ar2 549
i i
6 42 27 6 32 - 45 Tir) 4.1 510 784
5] 43 29 5] 33 i 4.5 7.5 4.1 510 784
§] 48 34 B 3 22 4.5 75 4.1 774 1,180
8 54 33 8 36 24 (e5] 9 5 882 1,370
8 62 46 8 40 32 5.5 9 S 5 5 980 1,570
10 74 51 10 49 35 6.6 i 6.1 1,570 2,740
10 82 60 10 55 33 6.6 11 B.1 1,670 3,140
20 20
13 96 70 13 B4 45 9 14 8.1 2,160 4,020

1

-

[0)]
1

HEEE%EH 7?( ;% ﬁl] Flange linear bearing series

R (2}
Fixing hole(x2)

SAETFL(xA)
Fixing hole{x4}

TERFIAZE Major dimensions and tolerance

LMHP---LUU
i N F ok 2T 13mm iz A FHETF16mm
LMHP13 or Less LMHP16 or More
AFEE
Nome! mkSmEEEZ ST dr
diameter LiHE-A UL (g A
— mm Tolerance
um

6 LMHPBLUU 28 B

8 LMHP2LUU A7 8

10 LMHP10LUU 90 10 (8]

12 LMHP12LUU 102 Tz -10

13 LMHP13LUU 123 13

16 LMHP16LUU 182 16

20 LMHP20LUU 247 20

25 LMHP25LUU 25 25 2

30 LMHP30LUU 645 30 -1

35 LMHP35LUU 950 35 0

10 LMHP40LUU 1,450 40 -15

FTERSHHAZE Major dimensions and tolerance
%% Flange
| Df W t A F X Y

mm mm mm mm mm mm mm mm

8 28 18 5 20 = 3.5 6

5 32 21 5 24 - 3.5 4]

6 40 25 ¢ 29 - 4.5 70

6 42 27 (¢ 32 = 4.5 75

4] 43 29 B 33 = 4.5 75

6 48 34 ¢ 31 22 4.5 75

8 54 38 8 36 24 5.5 &

8 B2 16 8 40 32 55 9
10 74 51 10 49 35 6.6 11
10 82 60 10 55 38 6.6 11
13 96 70 13 64 45 9 14

mm

3.1
3.1
4.1
4.1
41
4.1
5.1
5.1
6.1
6.1
8.1

12
15
19
21
23
28
32
40
45
52
60

D L
P e
Tolerance mm Tolerance
um um
0 35
-13 45 + 300
55
0 57
-16 61 0
70 =300
80
0
e
-19
123 0
0 135 -400
-22 151
HE F11ar
= TIRe EEE Basic load rating
Eccentricity Squareness _
sl e BAE O
Dynamic Static
CN CoN
323 529
431 784
588 1,100
15 15
813 1,570
813 1,670
1,230 2,350
1,400 2,740
20 20 1,560 3,140
2,490 5490
2,650 6,270
25 25
3,430 8,040
e YT =




EZEHE&WART

Flange linear bearing series

FRTLX2)
Fixing hole{x2}

FHTLE)
Fixing hole(x4)

01

ELBHNETZERT

Linear motion ball slide units series

»
4
E+0.05
P
N |
1, [
49
™
S
o .
+ I
H !
¥
i
Y
L
SK
— . . —
FEES b NG Z R=<fDimensions {(mm) 5% B S HE
Support Shait Lacking Bolt | Clamping Bolt|  ‘veight
Designation | Demensions 9 kg ( kg/m)
h = W L B G = B S
SK8 8 20 21 42 | 14 | 328 6 18 | 32 | 55 M4 M5 24
SK 10 10 20 21 42 | 14 | 328 6 18h|F 32 | 5.5 M4 M5 24
SK 12 12 23 | 21 42 | 14 | 375 6 20 | 32 | 55 M4 M5 30
SK 13 13 23 | 21 | 42 | 14 |375| 6 | 20 | 32 |55 M4 M5 30
SK 16 16 27 | 24 | 48 | 16 | 44 8 | 25| 38 |55 M4 M5 40
SK 20 20 31 | 30 | 60 | 20 | 51 | 10| 30 | 45 | 6.6 M5 M6 70
SK 25 25 35 | 35 | 70 | 24 | 60 | 12| 38 | 56 | 6.6 M6 M6 130
SK 30 30 42 42 84 | 28 70 12 44 | 64 9 M6 M8 180
SK 35 35 50 49 98 | 32 82 15 50 | 74 | 11 M8 M10 270
SK 40 40 60 57 | 114 | 36 96 15 60 | 90 11 M8 M10 420
SK 50 50 70 63 | 126 | 40 | 120 18 74 | 100 | 14 M12 M12 750
SK 60 60 80 74 | 148 | 45 | 136 18 90 | 120 | 14 M12 M12 1100

w w | H
L
NF s F13 MWEX TFHE T16mm
LMHC"UU mﬁ’,lm13,i,mggm LMHM1BL or More
MRz
s EER R FHE ( 3 ) #R
il E=1 HErrin g Outer Ceving galls Retainer seals material
Model No. Production standards $7]'}ﬁ ﬁ.@f& ( HHC) ﬁﬁ&tiﬁ *7”3 ﬁ.@f&‘z ( HRC) *jﬁ ﬁﬁﬁfﬁﬁnc ’%“;ﬁ :{’%HQ
Material Hardness SUic Material Hardness Material Hocenwo iy Skeleton Rubber
treatment temperalure
FHS
LMHCOLUU | GBT/16940-2012 | Gerl5 60-64 Gerls 61-66 FTS?] —20-80 65Mn THEEE
FHE
LMHCOLAUU| GBT/16940-2012 | Gerls 60-64 | LERMEEESR | Gerlb 61-66 glﬁsi ~20-80 65Mn THEESZ
LMHCCOLM | GBT/16940-2012 | Ger1s 60-64 Ger1bs 61-66 08F -20-150 65Mn
e FER HAMERLT
IModel No. Main dimensions Basic load rafing
: M {Z(the , 532 I Ry
| [T . [B= Ex
BilEGREE | WRESE Bl =8 inside A e 1€ &{length) i (Flange) {Connecti e=2 | BHE o | oy
# ; diameter) HE #
diameter) | on hole)
e | e, [N d NE D NE L HE DI |W|H|A|F|dl]|d2l h o kgh | (kof
of halls | g} r (& o (& verticalty | runout (g) (g)
LMHCELUU | LMHCELM 4 28 6 12 0 35 15 28|18 | 5 |20| - | 35| 6 |31|0.015| 0.015| 33 | 54
LMHCBLUU | LMHCBLM 4 47 8 15 | -0.013 | 45 20 32|21| 5 |24| - | 35| 6 |31|0.015| 0.015 | 44 | 80
LMHC10LUU | LMWHC1O0LM | 4 80 | 10 0 19 55 0 245 |40 | 25| 6 (28| - | 45| 75| 41| 0.015| 0.015| 60 | 112
LMHC12LUU | LMHC12LM | 4 102 | 12 |-0010 | 21 0 57 |-030 | 255 |42 |27 |6 32| - | 45|75 41| 0015| 0015 | 83 | 160
LMHCA3LUU | LMHC13LM | 4 123 | 13 23 | -0.016 | 61 075 |43 29| 6 (33| - | 45|75 41| 0.015| 0.015| 83 | 160
LMHC16LUU | LMHG16LM | & 182 | 16 28 70 32 48|34 |6 |81|22| 45|75 44| 0.015]| 0.015 | 126 240
LMHC20LUU | LMHC20LM | 5 247 | 20 32 BO 36 54 |38 | 8 |36 |24 55| 9 |51 0.020| 0020 | 143 | 280
0 0 g
LMHC25LUY | LMHG25LM | 6 525 | 25 40 112 52 62 |46 | B |40|32| 55| 9 | 54| 0020| DO20 | 159 | 320
-0012 -0.019
LMHC30LUU | LMHC30LM | 6 645 | 30 45 123 " 566 | 74 |51|10(49 (35| 66| 11| 61| 0.020| 0.020 | 264 | 560
LMHC35LUU | LMHC35LM | 6 960 | 35 52 135 —_— 625 |82 |58 |10 (55|38 66| 11| 61| 0025| D025 | 270 | 640
0 0 T
LMHC40LUU | LMHC40LM | 6 |1410| 40 60 151 oF 96 |66 |13 |64 45| 9 | 14| 81| 0.025| 0025 | 350 | 820
{70.5)
-0.015 -0.022
LMHC50LUU | LMHC50LM | 6 | 3450 | 50 80 192 895 |116|86 |13 |BD|566| 9 | 14| 81| 0025| 0.025 | 608 | 1590
-18 -

-19-



SHF Ebz 5 37

SHF Horizontal shaft support

(-

B E g im XA
Rod ends SI. . T/K

= (©)
] Y% £ R~fDimensions (mm) . =®
MODEL SHAFT Li%ﬁmﬁé%n lemﬁ%%cﬂt Lt
NO. DLAMETER| . . = g . . . g g { kg/m )
SHF3 3 43 | 10 | 5 24 | 20 | 32 | 55 M4 M5 0.013
SHF4 4 43 | 10 | 5 24 | 20 | 32 | 55 M4 M5 0.013
SHF5 5 43 | 10 | 5 24 | 20 | 32 | 55 M4 M5 0.013
SHF& 6 43 | 10 | 5 24 | 20 | 32 | 55 M4 M5 0.013
SHF8 8 43 | 10 | 5 24 | 20 | 32 | 55 M4 M5 0.013
SHF10 10 43 | 10 | 5 24 | 20 | 32 | 55 M4 M5 0.013
SHF12 12 47 | 13 | 7 28 | 25 | 36 | 55 M4 M5 0.02
SHF13 13 47 | 13 | 7 28 | 25 | 36 | 55 M4 M5 0.02
SHF16 16 50 | 16 | 8 31 | 28 | 40 | 55 M4 M5 0.027
SHF20 20 60 | 20 | 8 37 | 34 | 48 | 7 M5 M6 0.04
SHF25 25 70 | 25 | 10 | 42 | 40 | 88 | 7 M5 M6 0.08
SHF30 30 80 | 30 | 12 | 50 | 46 | 64 | 9 M6 M8 0.11
SHF35 35 92 | 35 | 14 | 58 | 50 | 72 | 12 M8 M10 0.38
SHF40 40 102 | 40 | 16 | 67 | 56 | 80 | 12 M10 M10 0.51
SHF50 50 122 | 50 | 19 | 83 | 70 | 9 | 14 M12 M12 0.89

-20 -

™
1N
: ™
NN
N
N ! Ls
A \ e
s
WS Rt mm (Dimensions) 1 #7 (Load ratings) R kg
Part Number| | dy6H Bl |wlinm|d|w|tld|da]| a n':n :; £ dyn.c |# stat. Weight
SI5T/K 5 Mox0.8| 8 | 6 |9 (27|18 (36| 4 |8.5] 11 |11.11] 10 13 5.70 6.00 0.016
SIBT/K 6 | M6x1.0( 9 16.75 11 [ 30|20 (40| 5 (10| 13 |12.70] 12 13 7.20 7.65 0.022
SIBT/K 8 |MBx1.25|12| 9 |14 | 36|24 |48 | 5 |12.5| 16 [15.875 16 14 11.6 12.9 0.047
SIOT/K 10 |M10x1.5| 14 |10.5/ 17 | 43 | 28 | 57 |6.5| 15 | 19 [19.05] 20 13 14.5 18.0 0.077
SNO-1T/K | 10 (M10x1.25( 14 |10.5/ 17 | 43 | 28 | 57 |6.5| 15 | 19 |19.05| 20 13 14.5 18.0 0.077
SH2T/K 12 [M12x1.75| 16 { 12 | 19 [ 50 | 32 | 66 (6.5 (17.5] 22 |22.225] 22 13 17.0 24.0 0.100
SNM21T/K | 12 (M12x1.25/ 16| 12 {19 | 50 | 32 | 66 |6.5(|17.5] 22 [22.225 22 13 17.0 24.0 0.100
S114T/K 14 [M14X2.0| 19 (13.5{ 22 [ 57 (36 | 75| 8 | 20 | 25 |25.40| 25 16 24.0 31.0 0.160
SN41T/K | 14 |[M14xX1.5| 19 (13.5/ 22 |57 ({36 |75 | 8 | 20| 25 (25.40| 25 16 24.0 31.0 0.160
SI6T/K 16 [M16X2.0( 21 | 156 | 22 64 42 | 85| 8 | 22 | 27 |28.575| 28 15 28.5 39.0 0.220
SN6-1T/K | 16 |M16X1.5|21 |15 |22 | 64|42 |85 | 8 | 22 | 27 |28.575| 28 15 28.5 39.0 0.220
SI18T/K 18 [M18x1.5| 23 |16.5{ 27 | 71 | 44 | 93 | 10 | 25 | 31 |31.75] 32 15 42.5 47.5 0.320
S120T/K 20 |M20x1.5( 25|18 | 30 | 77 | 50 {102] 10 [27.5) 34 [34.925 33 14 42.5 57.0 0.420
S122T/K 22 |[M22x1.5(28 | 2032|8454 111| 12 ‘30 38 |38.10| 37 | 15 57.0 68.0 0.540
SIZ5T/K | 256 | M24x2.0| 31| 22 | 36 | 94 | 60 |124| 12 |33.5 42 |42.85| 42 15 68.0 85.0 0.720
SI28T/K 28 [M27x2.0| 35|24 |41 |103| 66 |136| 14 | 37 | 46 |47.60| 51 15 86.0 107.0 0.820
SI30T/K 30 (M30x2.0|37 |25 41 |110| 70 {145] 15 | 40 | 50 |50.80] 51 17 88.0 114.0 1.100
SI30-1T/K | 30 [ M27Xx2.0( 37 | 25| 41 | 110 70 145] 15 | 40 | 50 |50.80| 51 17 88.0 114.0 1.100
SI35T/K 35 | M36x2.0| 43| 28 | 50 [125) 81 [165.5) 17 | 46 | 58 [57.10| 56 16 . 1.600
SI40T/K 40 | M42x2.0| 49 | 33 | b5 [142) 91 [187.5) 19 | 53 | 65 |66.60| 60 17 2.400
SIBOT/K 50 {M48x2.0| 60 | 45 | 65 | 160|117 |218.8 23 65 | 75 [82.50| 65 12 l 5.000
-2



B 78 7 i 5K 1 B &

Rod ends SA..T/K

. C
s
i

OB HER-ARA-RE TR (srmx)

Cam Follower Bearing-Hexagon Socket-Full Roller Type (Bolt Bearing)

. R~k mm  (Dimensions) 2 7% (Load ratings) 58 kg
Fell MBS s - Blo| Y la|u|{nh| k| d/|Rs| ® |3dnc|statc | Voo
6g min Az
SAST/K 5 M5x0.8 8 6 19 18 33 42 [11.11| 0.3 13 5.70 6.00 0.013
SABT/K 6 M6ExX1.0] 9 [6.75 21 20 36 46 112.70| 0.3 13 7.20 7, bh 0.020
SA8T/K 8 |M8%X1.25¢{ 12 9 25 24 42 54 115.875 0.3 14 11.6 12.8 0.038
SA10T/K 10 [M10%x1.5( 14 [10.5( 28 28 43 62 [119.05| 0.3 13 14.5 18.0 0.055
SA12T/K 12 M12x1.75 16 | 12 32 32 54 70 |22.225 0.3 13 17.0 24.0 0.085
SA14T/K 14 | M14X2.0( 19 |13.5| 36 36 | 18 | 60 78 125.40| 0.3 16 24.0 31.0 0.14
SA16T/K 16 |MI6x2.0( 21 15 37 42 | 21 | 66 87 [28.575 0.3 15 28.5 39.0 0.21
SA18T/K 18 | M18x1.5| 23 (16.5| 41 44 | 22 | 72 94 [(31.75| 0.3 15 42.5 47.5 0.28
SAZ20T/K 20 |M20x1.51 25 | 18 45 50 | 25 | 78 | 103 [34.925| 0.3 14 42.5 57.0 0.38
SA22T/K | 22 |M22x1.6] 28 | 20 43 54 | 27 | 84 § 111 [38.10{ 0.3 15 B57.0 68.0 0.48
SA25T/K | 256 |M24x2.04 31 | 22 55 60 | 30 | 94 | 124 |42.85] 0.3 15 68.. 0 85.0 0.64
SA28T/K | 28 |M27x2.0) 35 | 24 62 66 ;| 33 {103 | 136 [47.60} 0.3 15 86.0 107.0 0.80
SA30T/K | 30 |M30x2.0; 37 25 66 70 } 35 | 110 | 145 |50.80| 0.3 17 88.0 114.0 1.10
SA3BT/K | 35 |M36x2.0) 43 | 28 85 81 { 41 | 140 | 180.5(57.10} 0.3 16 1.64
SAQ0T/K | 40 | MA2x2.01 49 | 33 90 91 | 46 | 150 |195.5|66.60| 0.3 17 2.30
SAB0T/K 50 | M4BX2.0| 60 | 45 105 | 117 | 59 | 185 |243.5|82.50( 0.3 12 4.80

2 PP

al £ el [
¢
/ N Gi
"'"i CF-¥YE
£=500 B B
B
Mo FERS
D C di G G1 B B1 B2 B3
CFevB CFGVER 16 1 G MG*1.0 8 12.2 28.2 16 -
CF8VvB CF8VEBR 19 1 8 M8*1.25 10 12.2 32.2 20 -
CF10vVB CF10VBR 22 12 10 M10*1.25 12 13.2 36.2 23 -
CF10-1VB | CF10-1VBR 26 12 10 M10*1.25 12 13.2 36.2 23 -
CF12vB CF12VBR 30 14 12 M12*1.5 13 15.2 40.2 25 6
CF12-1VB | CF12-1VBR 32 14 12 M12*1.5 13 15.2 40.2 25 6
CF16vVB CF16VBR 35 18 16 M16*1.5 17 19.6 521 325 8
CF18VB CF18VBR 40 20 18 M18%1.5 19 21.6 58.1 38.5 8
CFz20vB CF20VBR 47 24 20 M20*1.5 21 25.6 66.1 40.5 9
CF20-1VB | CF20-1VBR 52 24 20 M20*1.5 21 25.6 66.1 40.5 9
CF24VB CF24VBR 62 29 24 M24*1.5 25 30.6 80.1 49.5 11
CF24-1VB | CF24-1VBR 72 29 24 M24*1.5 25 30.6 80.1 49.5 11
CF30VB CF30VBR 80 35 30 M30*1.5 32 37 100 63 15
CF30-1VB | CF30-1VBR 85 a5 30 M30*1.5 32 37 100 63 15
CF30-2VB | CF30-2VBR 20 35 30 M30*1.5 32 37 100 83 15
FERF IrEHE AT ( KN) ==
BS — : S
C1 gl g2 H r N.m MEFC | BIECO | (g)
CFevB CFGVER 0.6 - - 3 0.3 2.7 6.28 8.5 19
CF8vB CF8VBR 0.6 - - 4 0.3 6.5 8.17 11.2 29
CF10VB CF10VBR 0.6 - - 4 0.3 13.8 9.57 14.5 46
CF10-1VB |CF10-1VBR | 0.6 - - 4 0.3 13.8 9.57 14.5 61
CF12vB CF12VBR 0.6 4 ) 6 0.6 21.9 13.5 19.7 97
CF12-1VB |CF12-1VBR | 0.6 4 5) 6 0.6 21.9 13.5 19.7 107
CF16VB CF16VBR 0.8 4 3 6 0.6 58.5 20.7 37.6 173
CF18VB CF18VBR 0.8 (5] 3 8 1 86.2 25.3 51.3 255
CFz20vB CF20VBR 0.8 6 4 8 1 119 33.2 64.5 390
CF20-1VB | CF20-1VBR | 0.8 6 4 8 il 119 33.2 64.5 465
CFz24VB CF24VBR 0.8 6 4 12 1 215 46.6 92.0 820
CF24-1VB |CF24-1VBR | 0.8 G 4 12 1 215 46.6 92.0 1140
CF30VB CF30VBR 1 (5] 4 17 1 438 67.7 144 1870
CF30-1VB | CF30-1VBR 1 6 4 17 1 438 67.7 144 2030
CF30-2VB | CF30-2VBR 1 G 4 17 1 438 67.7 144 2220

2 T



B ih-SN-#5ER / SNT-FAT RS

Linear shaft-SN-standard type/SNT-hollow type

-24.-

y ELEETE
| R
ik = BAKE B RS i B
{ kg/m) {L)

3 0.06 1000 SN3 SNC3

4 0.10 2000 SN4 SNC4

5 0.15 2000 SN5 SNC5

6 0.22 2000 SN6 SNC6

8 0.39 2000 SN8 SNC8

10 0.62 2000 SN10 SNC10

12 0.89 3000 SN1i2 SNC12

13 1.04 3000 SN13 SNC13

14 1.21 3000 SN14 SNC16

15 1.39 3000 SN15 SNC20

16 1.58 4000 SN1i6 SNC25

17 1.78 4000 SN17 SNC30

18 200 4000 SN18 SNC35

20 2.47 4000 SN20 SNC40

22 2.99 4000 SN22 SNC50

25 3.86 4000 SN25 SNCE0

28 4.84 4000 SN28 SNC70

30 5.55 4000 SN30 SNC80

32 6.32 4000 SN32

35 7.56 4000 SN35

40 9.87 4000 SN40

45 12.49 4000 SN45

50 15.43 4000 SN50

55 18.66 4000 SN55

(3]¢] 22.21 4000 SNGO

B85 26.07 4000 SNG5

70 30.23 4000 SN70

75 34.71 4000 SN75

80 39.49 4000 SNB80

s ] Sz Bz ] EAKE (L) | &8 (kgm) | 24

16 SNT16 16 10 3 4000 0.96
20 SNT20 20 12 4 4000 1.58
25 SNT25 25 17 4 4000 207
30 SNT30 30 20 5 4000 3.08
35 SNT35 35 25 5 4000 3.70
40 SNT40 40 30 5 4000 4.32
50 SNT50 50 36 74 4000 7.42

Application fields

oz FH <1 35,

HEiftia&

Automation equipment

Baingliss

Automatic cutting equipment

EfraEm
Medical apparatus
and instruments

EN R4

Printing machinery

7L

Textile machinery

VLR

Numerical control machine

B il

Food machinery

Tuk#lzE A

Industrial robot




